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Al 19 WTO 7 f¢rt T (Agreement on Safeguard) % 2 if 2 2 > 3471t WTO € R &2 F
s Rl T 2 & o (25%)

A2.x F w0 & =% (World Trade Organization) & 4 ¥ = 2 I &S rd 3F 5 RS
= o 2 ¢ T gofidk it %) (Agreement on Government Procurement) 5 — T4 38 1 %
(Plurilateral Agreement) » # 4 5 &2 T kel 7 % gt 2 (Agreement on Technical
Barriers to Trade) ¥ T % :#12 %, (Multilateral Agreement) 3 #77% ¢ > P 4L 45 :F 15
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Note: You shall write your exam paper in Chinese only.

B1. “Act in such a way that you treat humanity, whether in your own person or in the person
of any other, always at the same time as an end and never merely as a means to an end”;
“The imperative of rights is: be a person and respect others as persons.”

Is the current international human rights regime compatible with the principles stated
above? Please Discuss! (25%)

B2. Please explain the role and functions of the Human Rights Committee within the ICCPR.
(25%)
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Cl.iz 45 1982 & 5 & F ;% %2 2 Y)(UNCLOS)Z2. 2 ¥ A B3 /s UM smp -k
2 E R S R 7 (25%)

C2.ik 4% 1982 & 5 £ B4 %2 2 (UNCLOS)Z %> — B 4p4a @ 1 2 jd 1+ 41
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DligriAp M B% < 2t 24551 T3E 2 R A (precautionary principle) 7 & - 7] & %
Bivik B bt enk 2 5 @ ? (25%)

D2. 3 R %82+ T2k 2 £ 8 hi iz, (common but differential responsibility) ?

Ap b % B TR 8+ 2 (Multilateral Environmental Agreements, MEAS) » 4085 & B 5 %
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